3-27-19

) 9-/"‘3(5) P Qaqy) = 21,0¢) AR = = As=~ Ag: *-

d

AG = AH -TAS

= () - (A

. Spon /aneau.s ot Jow llfm,gcra!ums aﬂ(/ Non - Spop /r///'z'aas af

h;ﬁf/}) /-em'g, o étres

DG

>0 pg—

noh-

fungoss
on ’-\;bs

doven

,._;O” W

PRI ) 4
w e“!"
()

1 LH’J

AG ©

AP}_

sp

P N
(<0 v e where W8 CaN Mheasure
§ Hancous “ " equiltbium copstont-

\;%f\ ® enlrupzr, driven (shall_AG)
@

3) NaOy(y) & IN0a(y) AH>O, AS> 0O, AG =7
AG:z Al - TAS

= (1)- (HY(H)

[1011-5041 faneaiss af ,égg /tm:J, S/.v_)gp/am-du.t at @?4 A‘/))/J

Y) A—> B AH>0 ASKO | A¢ > O a'“fug& non-span}gngg_@i_

Q—CU(;,) = Oz(.}/}) F 2Ce




HA + OH s 1hO + A kez 7 = by

A6<0

Ca (oH)z —

C* ¥y Aoy- /\’SP:J'/))G(//; AG>0

l AG = AG" + RT./(J) Q Q!:) vclf(%ases Qe ,Q,r gg/uAtms

NaO4 (g & = ANOY AG; < L3T (S’:z/""% Noh~spopdarsesus )

A6y +94. ?Lu//na/ + 5.3 M/ 7

X1 ol X3 /

-99.3k7 + 1026k = Q.3 kT

AG:- AO' t Rl—fn@ P MOy & INO-

I )Owhm  OOlouhy Qy=ted

A6+ 2.9K0 + (SSNM{J’A«M)@?P’Uﬂn(UHU) ’_\ / Qp- !j::‘"

LG -10.0kT P

P MOy &= LNGs
I 0.0'()a"m l-()a"m QP: 100

AG= L3+ (9.314 63 /1) (2a8 k) In (100)

AG= 1Y.2 kT

At_equitbium, AG= O

L AG = A6 F RThQ

0= AG 1 RTApk

| 1Aac® = Rtk

PG’ -RTfnk 4 RTINQ F Q2k 3 >] AG>0norspat

lac= T (h () 4 0k £ ACO syt




